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: quicldy and as carefully as you can.

Section A — Quick Maths

You have 10 minutes to complete this section
There are 30 questions in thig section,

nost suitable for measuring the length of a footbal] pitch?
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Year Group | Boys | Girls
2 49 50
3 52 56
4 55 57
5 54 59
6 30 54

on to the next question ——
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10. Which is the most
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soup?
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11. Maddy buys a tomato salad, some coleslaw and a jacket potato.

How much change will she receive from a £5 note?
S L simamie 0839 p £3.60 E £3.63
-12- Look at these fractions.
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Section B — Long Maths
You have 25 minutes t0 complete this section.
There are 30 questions in this section.

1. The shape on the grid is reflected in the mirror line.
What are the coordinates of the image of point B?

A(22 B@G-2) &y D@2 E(CL-3)

The ages in months of four out of six babies at a clinic are given below.

6 3 8 2

1 age of all the babies is 5 months. ,
following could be the ages in months of the fifth and sixth babieg?

Bland2 C3and8 D lland12  E 3andd

r 20 days. He draws a pie chart of his results.
' ize angle should he draw to represent this?
o E 180°
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js a ferryman. He counts the number of children and ad

: ults that use his f;
- of one week. He records his results on a bar graph. S e

60)

How many children used
» ferry on the first 3 days

e ([ [
w many more children than M = chiidren
ts used the ferry that week?
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h day did twice as many adults use the ferry as children?
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jay that the ferry had the fewest
s, how many children used it? [j@
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4 i inimum
22. Sleeping bags ar¢ given a rating to show the m
. temperature they can be used ati
2 3 4 5

Sleeping bagd rating 1 = CoBET —
Minimum temperature (°C) 5 z v

Adam needs to buy a sleeping bag that he can use @ eratur_e By

The graph on the right can be used to change a temp

a temperature in °C. ; D
t\:l;at is l,t,ge Jowest rating of sleeping bag he can buy?

es. 2

Susan taining 60 marbl
e : The remaining marbles are

are blue and 15% of them are green.
~ 23. How many yellow marbles are in the bag?

24, What fraction of the marbles in the bag are green?

TN B % C %o D Yo

504 of them are red, 30% of them
yellow.

E /5

cking a tent to take on holiday and wants to work out how
She chooses to model it as a regular triangular prism.

LS

ngular prism = area of triangular side x length
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